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QUESTION 1

Exercise 1 (Total marks 12)

(a) Application & Allotment A/c
€ €
Ord. Share Capital Bank — Application money
(20 000 sh. x €1.50) 30.000 | (30 000 sh. x €0.50) 15.000
Share Premium Bank — Allotment money
(20 000 sh. x €0.20) 4.000 | (20 000 sh. x €1.20) 22.000
— (4 000 sh.x €0.50)
Bank — refund
3.000
37.000 37.000
(marks 4)
(b) Ordinary Share Capital Alc
€ €
B/ce b/d (50 000 x €2) 100.000
Application & Allotment 30.000
First Call 6.000
Second & Final Call 4.000
(marks 2)
(c) Bank Alc
€ €
Appl. & All. - App. money 15.000 | Appl.&All. - money refunded 3.000
Appl. & All. - All. money 22.000 | (6 000 sh. x €0.50)
First Call
(20 000-1 000) sh.x €0.30) 5.700
Calls in Advance
(500 sh.x €0.20) 100
Second & Final Call
(20 000-1 500) sh.x €0.20) 3.700
(marks2,5)
(d) First Call Alc
€ €
Ord. Share Capital Bank 5.700
(20 000 sh. x€0.30) 6.000
Calls in Arrear 300
(1 000sh.x€0.30)
6.000 6.000
(marks 1,5)



(e)
Second & Final Call Alc

€ €
Ord. Share Capital 4.000 | Bank 3.700
(20 000 sh. x €0.20)
Calls in Advance 100
Calls in Arrears
(1 000sh.x€0.20) 200
4.000 4.000
(marks 2)

Exercise 2 (Total marks 8)

(@) % Return on Capital employed = Net Profit after tax X 100 = (100 - 42) X 100
Capital Employed (280 + 75)
= 5.800/355 = 16.34%

- O apIBpodeikTNG deixvel TNV ATTOdOO0N YIA TN XPNOIMOTIOINCN TOU KEQOAaiou oTn
ETTIXEIPNON. N OTTOIA E€ival TTOAU IKAVOTTOINTIKK). £XOVTAG UTTOWN OTI Ta ETTITOKIA
XPEOYPAPWY Kal EPTTPOBECUNG KATABEONG OTNV TPATTECIKA ayopd KUPAiveETal

010 4 — 6.5%.

(b) Current Ratio = Current Asset = 145 = 1.8 times
Current Liability 80

- Agixvel 0TI n eTaipgia uTTOPEi va KAAUWEI TIG BPAaXUTTPOBECUES UTTOXPEWTEIG TNG
a1Td TO KUKAOQPOPIAKO EVEPYNTIKO KAI VO TNG ATTopEivel Ke@AaAalo Kivnong (working
capital) yia va cuveyioel TIg epyacieg TNG. To Uwog TnG. 1.8 mpog 1. oxedov pOdavel
TNV 16aVIKr avaAoyia Twv 2 TTpog 1.

(c) Rate of stock turnover = Costof Sales = 614 = 18.6 times
Average Stock (30 + 36)/2

- Agixvel 0TI Ta gUTTOPELUATA TNG ETAIPEIAG avavewvovTal KaTd yéoco 6po 18.6
QOPEG TO XpOvo. To UYog Tou deixvel OTI ival TTOAU KAAOG 0 O€iKTNG. TTPAyUa TTOU
uTTOONAWVEI OTI N ETTIXEIPNON €XEI TTOAEG TTWANCEIG (KAl CUVETTWG PEYAAUTEPQ
KEPDON) i OTI Ta ePTTOPEUPATA Eival TTOAU guaioBnTa A aAAAel N poda Toug Kal £TOI
TIPETTEl VO AVAVEWVOVTAI CUXVA.

(d) Debtors turnover (months) = Debtors X 12 = 84 X 12 =1.26 months
Net Sales 800

(marks 4)
- Agixvel OTI Ol XpeEWOTES COPAOUVTAI KATA HECO OPO KABE 1 urva Kai 8 uéEpec. ) Ot
n péon SIAPKEID TWV TTIOTWOEWY OTOUG TTEAATEG TNG ATAv 1 prvag Kai 8 pépeg. Oco
MEIWVETAI 0 OEIKTNG augaveTal N peuoTOTNTA TNG KAl 000 QUTOG AUEAVETAI QUTH
MEIWVETAL.

(marks 4)



QUESTION 2 (Total marks 20)
(a)

HERCULES LTD
Profit and Loss and Appropriation A/cs
for the year ended 30 June 2010

€ € €
Administration exp. 30.200 Gross Profit 78.000
Less prepaid 300 | 29.900
Debenture Interest 600
Add due 600 | 1.200
(30.000X8%X1/2) - 600
Directors Remuneration 10.000
Audit fees 3.300

Depreciation:

- Buildings (80.000X4%) | 3.200

- Furniture 1.620

(20.000-3.800)X10% 4.820
Provision for Bad Debts 1.300
Less old provision B.D 1.100 200
Net Profit 8.580

78.000 78.000

Corporation Tax
(28.580X10%) 2.858 | Net Profit 28.580
Interim Dividend: Balance b/f 4.800
- Preference Sh. 1.000
- Ordinary Sh. ~4.900 | 5.900
Proposed Dividend:
- Preference
(20.000X8%=1.600-1.000) 600
- Ordinary

(49000sh.x 0.20)* 9.800 | 10.400
Transfer to Gen. Reserve 2.000
Goodwill Written Off 3.000
Undistributed profit c/d 9.222

33.380 33.380
(marks 10)

* or 100.000-2.000 = €98.000
98.000X10% = €9.800
10% = (0,20X100)/€2



(b)

HERCULES LTD

Balance sheet as at 30 June 2010

€ € €
FIXED ASSETS Cost | Depreciat. | N.B.V.
Intangible:
Goodwill 10.000 3.000 7.000
Tangible:
Buildings (Depr. = 6.400+3.200=9.600) 80.000 9.600 | 70.400
Furniture & Fittings (Depr.=3.800+1.620=5.420) 20.000 5420 | 14580
110.000 18.020 | 91.980
CURRENT ASSETS
Stock 52.300
Debtors 26.000
Less Provision for B. D 1.300 24.700
Prepayments: Administration exp. 300
Calls in Arrears 2.000
Bank 19.600
98.900
LESS CURRENT LIABILITIES
Creditors 11.250
Accruals: Debenture Interest 600
Corporation Tax 2.858
Proposed Dividend - Preference 600
- Ordinary  9.800 10.400 25.108
WORKING CAPITAL 73.792
TOTAL ASSETS LESS CURRENT LIABILITIES 165.772
SHARE CAPITAL AUTHOR. | ISSUED
Ordinary Shares. of €2 each 200.000 | 100.000
8% Preference Shares. of €2 each 50.000 | 20.000
250.000 | 120.000
RESERVES & SURPLUSES
General Reserve (4.550 + 2.000) 6.550
Profit & Loss 9.222 | 15.772
135.772
LONG TERM LIABILITIES
8% Debentures 30.000
TOTAL CAPITAL EMPLOYED 165.772
(marks 10)




QUESTION 3 (Total marks 20)

Exercise 1 (Total marks 11)

Branch Stock account

€ €
Balance b/d 36.000 | Goods sent-returns 2.400
Goods sent to Branch 165.000 | Cash sales 8.400
Sales returns 3.000 | Credit sales/Branch Debtors | 177.000
Excess in Stock 300 | Allowances off selling price 1.500
Balance c/d 15.000
204.300 204.300
Balance b/d 15.000
(marks 4)
ii.
Branch Adjustment account
€ €
Branch stock returns(2.400x1/5) 480 | Balance b/d (36.000x1/5) 7.200
Allowances off selling price 1.500 | Branch stock (165.000x1/5) | 33.000
Gross profit 35.520 | Excess in Stock 300
Balance c¢/d (15.000 x 1/5) 3.000
40.500 40.500
Balance b/d 3.000
(marks 5)
iii.
Branch Debtors account
€ €
Balance b/d 21.000 | Sales returns 3.000
Credit sales 177.000 | Cash 175.080
Bad debts 720
Discount allowed 1.200
Balance c/d 18.000
198.000 198.000
Balance b/d 18.000
(marks 2)



Exercise 2 (Total marks 9)

(a)

Goodwill = Average profit x 3 =9.500 x 3 = 28.500

Average profit = 9.000+ 10.300+9.500+9.200 = 38.000 = 9.500

4 4
WORKINGS
Old Share of Goodwill New Share of Goodwill  Action required
Partner
D: 28.500 X 3/5= 17100 28.500 X 3/6= 14.250 2.850 Cr.
E: 28.500X2/5= 11400 28.500X2/6= 9500 1.900 Cr.
F: 28500 X1/6= 4750 4.750 Dr.
28.500 28.500
OR
F’ s share of Goodwill = 28.500 X 1/6 = 4.750
Allocated to D: 4.750 X 2/5 = 1.900
E: 4.750 X 3/5 =2.850
(marks 3.5)
(b)
Revaluation a/c
€ €
Furniture & fittings 1.000 | Investments 4.000
Machinery 2.000 | Stock 500
Share of Profit:
David 3/5 900
Emil 2/5 600 1.500
4.500 4.500
(marks 2)
(c)
Capital a/cs
€ € € € € €
D E F D E F
Capital D — 2.850 | Bal. b/d 80.000 | 50.000
Goodwil ad,j.
Capital E— 1.900 | Bank 25.000
Goodwil ad,j.
Balance c/d 83.750 | 52.500 | 20.250 | Profit on Rev 900 600
Capital F - 2.850 | 1.900
Goodwill ad;.
83.750 | 52.500 | 25.000 83.750 | 52.500 | 25.000
(marks 3.5)




QUESTION 4 (Total marks 20)

a)
JOURNAL OF MONALIZALTD
DR CR
Land & Building 1.000.000
Motor Van 90.000
Stock 50.000
Debtors 27.000
Goodwill (missing figure) 39.500
Loan 195.000
Creditors 9.500
Provision for Bad Debts 2.000
Vendor (Mona-Liza) 1.000.000
Vendor (Purchase price) 1.000.000
Bank 100.000
Ordinary Share Capital (400 000 x €2) 800.000
Share Premium (400 000 x €0.25) 100.000
(1.000.000-100.000=€900.000 =>€900.000+400.000sh.= €2.25p.sh.)
Shareholders (200 000x€2.50) 500.000
Ordinary Share Capital (200 000 x €2) 400.000
Share Premium (200 000x€0.50) 100.000
Bank 500.000
Shareholders 500.000
Preliminary expenses 5.500
Bank 5.500
Share Premium 5.500
Preliminary expenses 5.500
(marks 11)




b)

Balance Sheet of MONALIZA LTD as at 1 January 2011

FIXED ASSETS

Intangible
Goodwill

Tangible
Land & Buildings
Motor Van

CURRENT ASSETS
Stock
Debtors 27.000
Less Prov. for bad debts (2.000)
Bank/Cash (500.000-100.000-5.500)

Less CURRENT LIABILITIES
Creditors
WORKING CAPITAL

Less LONG-TERM LIABILITIES
Loan

NET ASSETS

CAPITAL AND RESERVES
Authorized capital

1 000 000 ord. shares of €2 each
Issued share capital

600 000 ord. shares of €2 each
Share premium

€

1.000.000
90.000

50.000

25.000
394.500

€

39.500

1.090.000

469.500
1.599.000

9.500
1.589.500

195.000
1.394.500

2.000.000

1.200.000
194.500
1.394.500

AUO TTAEOVEKTHHATA TTOU TTPOKUTITOUV OTTO TN YETATPOTTH HIOG TTPOCWTTIKAG
EMIXeipnong o€ Taipeia Teplopiouévng eubuvng (E.M.E.) eivai:

(marks 7))

a) n aTTOPUYRA TOU KIVOUVOU YIa TNV TTPOCWTTIKA TTEPIOUTia TwV CUVETAIpWY AOYw TNG
TTPOOWTTIKAG. AAANAEYYUOG Kal aTTEPIOPIOTNG EUBUVNG TTOU €XOUV YIa Ta XPEN TNG

ETIXEipNONG.

B) n duvatdTnTa £€EUPEONG KEQOAQiWYV YIa ETTEKTACT TWV Epyaciwy Tng E.MN.E.

(marks 2)




QUESTION 5 (Total marks 20)

Realization Account

€ €
Buildings 175.000 | Capital A- Buildings 160.000
Machinery 80.000 | Capital P- 2 Stock 8.000
Delivery Van 20.000 | Bank- Debtors 18.000
Furniture & Fittings 19.000 Machinery 53.000
Stock 18.000 Furniture & Fittings 16.000
Debtors 22.000 Delivery Van 12.000
Bank- dissolution 1500 Stock 7 000
expenses
Creditors - discount
received (25.000 x 8%) 2.000
Capital: share of loss
Andreas (59.500 x 4/7) 34.000
Petros  (59.500 x 2/7) 17.000
Savvas (59.500 x 1/7 ) 8.500
335.500 335.500
(marks 8)
ii.
Capital Accounts
Andreas| Petros |Savvas Andreas | Petros | Savvas
Current a/c 6.800 43.300 | Balance b/d 200.000 | 100.000 | 50.000
Real.-Buildings [160.000 Current alc 10.100
Real.-Stock 8.000 Capital Andreas 1.200
(1800 x 2/3) )
Realisation-loss | 34.000 | 17.000 | 8.500 | Capital Petros 600
(1.800 x 1/3)
Capital-Savvas 1.200 600 Bank 2.000
Bank 84.500
202.000 [110.100 | 51.800 202.000 | 110.100 | 51.800
(marks 8)
iii.
Bank Account
€ €
Cash 1.000 | Creditors 23.000
Realisation- Debtors 18.000 | Dissolution expenses 1.500
- Machinery 53.000 | Capital - Petros 84.500
-Furniture &Fit 16.000
- Delivery Van 12.000
- Stock 7.000
Capital - Andreas 2.000
109.000 109.000
(marks 4)

10




